Manuals+ — User Manuals Simplified.

@ 7 -/ L
%/ /S Y
@ / 4
% 7/ / 7
e /. /7 7
e 7. 7 /4
HA A
s 7
7/ 7/ 7
Z / /7
% / /7
../ 4

StarTech ADJSHELFV-RACK 1U 4Post Vented Adjustable Rack
Shelf Owner’s Manual

Home » StarTech » StarTech ADJSHELFV-RACK 1U 4Post Vented Adjustable Rack Shelf Owner’s Manual -

StarTechy;

Hard-to-find made easy®
Quick-Start Guide
1U 4Post Vented Adjustable
Rack Shelf — 28 to 34.4” — 150Ib (68kg) Capacity

Contents

1 Product ID
2 Package Contents
3 Requirements
4 |nstallation
5 Regulatory Compliance
6 Documents /
Resources
6.1 References

Product ID

ADJSHELFV-RACK


https://manuals.plus/#content
https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/startech
https://manuals.plus/startech/adjshelfv-rack-1u-4post-vented-adjustable-rack-shelf-manual.pdf
https://manuals.plus/#product_id
https://manuals.plus/#package_contents
https://manuals.plus/#requirements
https://manuals.plus/#installation
https://manuals.plus/#regulatory_compliance
https://manuals.plus/#documents_resources
https://manuals.plus/#references

*Product may vary from image

Feature Function

+ Used to fasten the Sliding Shelf onto the Rear Mounting Posts of Server Rac
k

1 Rear Mounting Brackets | | Enables to adjust the Mounting Depth with various slots along the length. Th
e available Mounting Depth range is 28 to 34.4in (710 to 873.5mm)

2 Shelf Surface * Place Rack Equipment

3 Ventilation Holes » Promote airflow for the Server Rack Equipment

+ Used to fasten the Sliding Shelf onto the Front Mounting Posts of a Server R

4 Front Mounting Brackets
ack

Package Contents

Adjustable Rack Shelf x 1
e M5 Screws x 8

« M5 Cage Nuts x 8
Quick-Start Guide x 1

Requirements

For the latest manuals, product information, technical specifications, and declarations of conformance, please visit:
www.StarTech.com/ADJSHELFV-RACK

« Refer to the manufacturer of the Server Rack to determine the mounting hole type and size

« Phillips head screwdriver

Cage nut tool (Optional)

Measuring tape (Optional)

WARNINGS!

« Read the entire Quick-Start Guide and ensure the instructions are fully understood before using this product.
« Never operate this product if parts are missing or damaged.

« All four mounting points must be properly secured to each of the posts on a four-post Server Rack.


http://www.startech.com/ADJSHELFV-RACK

« Never exceed the maximum mounting depth specification for this shelf: 34.4 (873.5mm).
« Before adding equipment to this product, ensure it has been properly mounted.
« Ensure the weight of the equipment does not exceed the weight capacity of this product.
If the weight capacity is exceeded, personal injury or damage to the equipment is possible. This product can

support the following stationary weight: 150lb (68kg)

Installation

1. Determine a suitable location on the Rack to mount the Adjustable Rack Shelf. The Sliding Shelf requires 1U of
Mounting Space.

2. Determine the Internal Depth of the Server Rack. This measurement will determine the Mounting Depth.

3. Install the M5 Cage Nuts into the Mounting Holes located at the chosen U Height, determined in
Step 1. on the Front and Rear Mounting Posts of the Server Rack. If available, use a Cage Nut Tool or a
preferred installation method to install the Cage Nuts.

Note: If the Server Rack has M5 threaded holes, skip this step. The M5 Screws can be installed without the M5
Cage Nuts.
Use the manufacturer-recommended Screws for the Server Rack if they differ from M5.

4. Slots along the Rear Mounting Brackets enable the user to vary the Mounting Depth of the Adjustable Rack
Shelf.

5. Position the Rear Mounting Brackets at the determined Mounting Depth from
Step 2. Insert the Screws (x 2 per side) through the Rear Mounting Brackets and into the Threaded Holes on
the sides of the Adjustable Rack Shelf. Use a Phillips Head Screwdriver to tighten the Screws (x 4).

6. Position the Adjustable Rack Shelf onto the Server Rack at the chosen U Height, determined in Step 1, with the
Front Mounting Brackets facing the user. Ensure the Holes (x 4) on the Front Mounting Brackets are Aligned
with the Mounting Holes on the Front Posts of the Server Rack.

Note: Two people are recommended to accomplish Steps 6 through 8.

7. Insert the M5 Screws (x 4) through the Front Mounting Brackets and into the M5 Cage Nuts (x 4). Tighten the
M5 Screws (x 4) using a Phillips Head Screwdriver.

8. Repeat Step 7 to secure the Rear Mounting Brackets.

Note: Ensure the Adjustable Rack Shelf is secure before placing Server Rack Equipment.

Regulatory Compliance

EU REACH Declaration

This product complies with the Registration, Evaluation, Authorisation, and Restriction of Chemicals (REACH)
Regulation (EC) of the European Parliament and the Council. The product does not contain any of the Substances
of Very High Concern (SVHC) or Restricted Substances above the threshold values declared by the European
Agency for Chemicals (ECHA) on their website’s documented/maintained lists.

Use of Trademarks, Registered Trademarks, and other Protected Names and Symbols

This manual may make reference to trademarks, registered trademarks, and other protected names and/or
symbols of third-party companies not related in any way to StarTech.com. Where they occur these references are
for illustrative purposes only and do not represent an endorsement of a product or service by StarTech.com, or an
endorsement of the product(s) to which this manual applies by the third-party company in question. StarTech.com
hereby acknowledges that all trademarks, registered trademarks, service marks, and other protected names
and/or symbols contained in this manual and related documents are the property of their respective holders
Warranty Information

This product is backed by a lifetime warranty.

For further information on product warranty terms and conditions, please refer to www.startech.com/warranty.



http://startech.com
http://startech.com
http://startech.com
http://www.startech.com/warranty

Limitation of Liability

In no event shall the liability of StarTech.com Ltd. and StarTech.com USA LLP (or their officers, directors,
employees or agents) for any damages (whether direct or indirect, special, punitive, incidental, consequential, or
otherwise), loss of profits, loss of business, or any pecuniary loss, arising out of or related to the use of the
product exceed the actual price paid for the product. Some states do not allow the exclusion or limitation of
incidental or consequential damages. If such laws apply, the limitations or exclusions contained in this statement

may not apply to you.

StarTech.com Ltd.
45 Artisans Crescent
London, Ontario
N5V 5E9

Canada

StarTech.com LLP

4490 South Hamilton
Road

Groveport, Ohio
43125

StarTech.com Ltd.

Unit B, Pinnacle 15
Gowerton Road
Brackmills,
Northampton

NN4 7BW

StarTech.com Ltd.

Siriusdreef 17-27
2132 WT Hoofddorp
The Netherlands

U.S.A. United Kingdom

StarTechy:0m

Revision: September 10, 2024
For additional self-service support
options and community forums, please
visit: www.StarTech.com/support

Documents / Resources

StarTech ADJSHELFV-RACK 1U 4Post Vented Adjustable Rack Shelf [pdf] Owner's Manual
ADJSHELFV-RACK 1U 4Post Vented Adjustable Rack Shelf, ADJSHELFV-RACK, 1U 4Post Ve
nted Adjustable Rack Shelf, Vented Adjustable Rack Shelf, Adjustable Rack Shelf, Rack Shelf,
Shelf

References

» User Manual

Manuals+, Privacy Policy

This website is an independent publication and is neither affiliated with nor endorsed by any of the trademark owners. The "Bluetooth®" word mark and logos are registered trademarks owned by Bluetooth
SIG, Inc. The "Wi-Fi®" word mark and logos are registered trademarks owned by the Wi-Fi Alliance. Any use of these marks on this website does not imply any affiliation with or endorsement.


http://startech.com
http://startech.com
http://startech.com
http://startech.com
http://startech.com
http://startech.com
http://startech.com/fr
http://startech.com/de
http://startech.com/es
http://startech.com/nl
http://startech.com/it
http://startech.com/jp
http://www.startech.com/support
https://manuals.plus/m/0d3e5a77c138aef85b510df3f69a80e0ae05b0e4ecad7ef50946c4c604c8abef
https://manuals.plus/m/0d3e5a77c138aef85b510df3f69a80e0ae05b0e4ecad7ef50946c4c604c8abef.pdf
https://manual.tools/?p=15144130#MTA0LjI4LjIzNC4xNzg7Ozs7
https://manuals.plus/
https://manuals.plus/privacy-policy

	StarTech ADJSHELFV-RACK 1U 4Post Vented Adjustable Rack Shelf Owner’s Manual
	Product ID
	Package Contents
	Requirements
	Installation
	Regulatory Compliance
	Documents / Resources
	References



